

# 2932

*by 2932 A*

---

**Submission date:** 23-Aug-2021 10:51AM (UTC+0700)

**Submission ID:** 1634608851

**File name:** 2932-4191-2-RV.pdf (265.23K)

**Word count:** 2446

**Character count:** 9306

# Some Notes on Generalized Young Inequality for n Numbers

\*Corresponding email: [XXXXXXXXXX](mailto:XXXXXXXXXX)

**Abstract.** In this note we obtain a generalized of Young's inequality for n numbers. From the inequality, we also get the generalized of Holder's Inequality and Minkowski's inequality for n terms. Furthermore result, some improved of the generalized Young's inequality for n numbers is discussed.

**Keywords:** Young's Inequality, Holder's Inequality, Minkowski's inequality

2000 Mathematics Subject Classification. 26D07, 26D15. 26D10

## 4 1. Introduction

Let  $a$  and  $b$  be positive numbers. The Famous Young inequality [1] state that

$$ab \leq \frac{a^p}{p} + \frac{b^q}{q} \quad (1.1)$$

for every  $p, q \geq 1$  with  $\frac{1}{p} + \frac{1}{q} = 1$  or  $q = \frac{p}{p-1}$ .

The Classical Young inequality is also rewritten as

$$a^\lambda b^{1-\lambda} \leq \lambda a + (1 - \lambda)b \quad (1.2)$$

by putting  $a := a^{\frac{1}{p}}$ ,  $b := b^{\frac{1}{q}}$ , and  $\lambda = \frac{1}{p}$  (clearly,  $0 \leq \lambda \leq 1$ ).

Based on Young's inequality, we can derive two other well-known inequalities namely the Holder's inequality and the Minkowski's inequality, which are some applications of Young's inequality. Apart from these two inequalities, Young's inequality also has many other applications. So, many mathematicians are interested in discussing Young's inequality.

Many researchers also try to generalize, improve, and refine these inequalities. An improvement of Young's inequality, obtained by F. Kittaneh and Y. Manasrah [2], is as follows

$$a^\lambda b^{1-\lambda} + r_0(\sqrt{a} - \sqrt{b})^2 \leq \lambda a + (1 - \lambda)b \quad (1.3)$$

with  $r_0 = \min\{\lambda, 1 - \lambda\}$ .

The authors of [3] obtained another refinement of the Young inequality as

$$(a^\lambda b^{1-\lambda})^2 + r_0^2(a - b)^2 \leq (\lambda a + (1 - \lambda)b)^2 \quad (1.4)$$

with  $r_0 = \min\{\lambda, 1 - \lambda\}$ .

Other development results of Young's inequality can also be seen in [4-9].

In the other hand, we know that the classical Young inequality for two scalars is the v-weighted arithmetic-geometric mean inequality, which is a fundamental relation between two nonnegative real numbers. The question arises: what is the generalization of Young's inequality if there are n numbers? as an application of the generalization of these inequalities, what inequalities can be generated? And what is the form of development of the generalization of Young's inequality?

In this paper, we will introduce the generalization of Young's inequalities involving n numbers. This paper will also discuss the inequalities that will result from the generalization of these inequalities, in particular the generalization of Hölder's inequality and generalization of Minkowski's inequality. And furthermore, inspired by the refinement of [2] and [3], we will also discuss the refinement of the generalization of these inequalities.

## 2. Main Result

### 2.1. Generalized Young's inequality for n numbers

We will start by introducing a generalization of Young's inequality involving n numbers. This form is a generalization of the classical form of Young's inequality.

**Theorem 1.** If  $a_i$  are positive numbers for all  $i = 1, 2, 3, \dots, n$  and  $p_i > 1$  for all  $i = 1, 2, 3, \dots, n$  such that  $\sum_{k=1}^n \frac{1}{p_k} = 1$ , then

$$\prod_{i=1}^n a_i \leq \sum_{i=1}^n \frac{1}{p_i} (a_i)^{p_i} \quad (2.1)$$

*Proof:*

We will use mathematical induction to prove this theorem. For  $n = 1$ , the inequality is clearly satisfied. For  $n = 2$ , the inequality is directly satisfied from Young's inequality.

Now, assume that the inequality is true for  $n = k$ . we get

$$\prod_{i=1}^k a_i \leq \sum_{i=1}^k \frac{1}{p_i} (a_i)^{p_i}$$

The next, we will proof that the inequality is also true for  $n = k + 1$ .

$$\prod_{i=1}^{k+1} a_i = a_1 \cdot a_2 \cdot \dots \cdot a_{k-1} \cdot (a_k a_{k+1}) \leq \sum_{k=1}^{k+1} \frac{1}{p_i} (a_i)^{p_i} + \frac{1}{p_k} (a_k a_{k+1})^{p_k}$$

$$\begin{aligned}
&= \sum_{k=1}^{k-1} \frac{1}{p_i} (a_i)^{p_i} + \frac{1}{p_k} (a_k)^{p_k} (a_{k+1})^{p_k} \\
&\leq \sum_{k=1}^{k-1} \frac{1}{p_i} (a_i)^{p_i} + \frac{1}{p_k} \left[ \left( \frac{(a_k)^{p_k} \frac{q}{p_k}}{\frac{q}{p_k}} \right) + \left( \frac{(a_{k+1})^{p_k} \frac{q}{q-p_k}}{\frac{q}{q-p_k}} \right) \right] \\
&= \sum_{k=1}^{k-1} \frac{1}{p_i} (a_i)^{p_i} + \frac{1}{p_k} \left[ \left( \frac{(a_k)^q}{\frac{q}{p_k}} \right) + \left( \frac{(a_{k+1})^{\frac{p_k q}{q-p_k}}}{\frac{q}{q-p_k}} \right) \right] \\
&= \sum_{k=1}^{k-1} \frac{1}{p_i} (a_i)^{p_i} + \frac{(a_k)^q}{q} + \frac{(a_{k+1})^{\frac{p_k q}{q-p_k}}}{\frac{p_k q}{q-p_k}} \\
&= \sum_{k=1}^{k+1} \frac{1}{q_i} (a_i)^{q_i}
\end{aligned}$$

where  $q_i = p_i$  for  $i = 1, \dots, k-1$ ,  $q_k = q$ , and  $q_{k+1} = \frac{p_k q}{q-p_k}$ . Furthermore, we can easily prove that  $\sum_{k=1}^{k+1} \frac{1}{q_i} = 1$ . So, the inequality has been proven. ■

Next, the inequality (2.1) can be written as

$$\prod_{i=1}^n (a_i)^{\lambda_i} \leq \sum_{i=1}^n \lambda_i a_i \tag{2.2}$$

**Remark.** When comparing the inequality (2.1) with the inequality (1.1), or (1.2) with (2.2), it is easy to observe that the left-hand side and the righthand side in the inequality (2.1) or (2.2) consist of  $n$  numbers, while in the inequality (1.1) or (1.2) there are only 2 numbers. It should be noticed here that either the inequality (2.1) or (2.2) is a generalization of the inequality (1.1) or (1.2).

## 2.2. Generalized Hölder's inequality with $n$ terms

In this chapter, we will introduce a generation of Hölder's inequalities obtained from the generalized Young's inequalities for  $n$  numbers.

**Theorem 2.2.** For any vectors  $x_i$  in  $\mathbb{C}^m$ , and for any positif numbers  $p_i$  satisfying  $\sum_{i=1}^n \frac{1}{p_i} = 1$ , we have

$$\sum_{k=1}^m \left| \prod_{i=1}^n x_{i_k} \right| \leq \prod_{i=1}^n \|x_i\|_{p_i}, \tag{2.3}$$

where

$$\|x_i\|_{p_i} = \left( \sum_{k=1}^m |x_{i_k}|^{p_i} \right)^{\frac{1}{p_i}}.$$

**Proof:**

If one of  $x_i$  is zero, the inequality certainly holds with equality. Otherwise, assume  $x_i$  are nonzero for every  $i \in \{1, 2, 3, \dots, n\}$ , and let  $u_i = \frac{x_i}{\|x_i\|_{p_i}}$ , and note that  $\|u_i\|_{p_i} = 1$  for all  $i$ . Then by using equation

(2.1)

$$\begin{aligned}
 \sum_{k=1}^m \left| \prod_{i=1}^n u_{i_k} \right| &= \sum_{k=1}^m \left( \prod_{i=1}^n |u_{i_k}| \right) \\
 &\leq \sum_{k=1}^m \left( \sum_{i=1}^n \frac{1}{p_i} |u_{i_k}|^{p_i} \right) \\
 &= \sum_{i=1}^n \left( \sum_{k=1}^m \frac{1}{p_i} |u_{i_k}|^{p_i} \right) \\
 &= \sum_{i=1}^n \left( \frac{1}{p_i} \sum_{k=1}^m |u_{i_k}|^{p_i} \right) \\
 &= \sum_{i=1}^n \left( \frac{1}{p_i} (\|u_i\|_{p_i})^{p_i} \right) \\
 &= \sum_{i=1}^n \frac{1}{p_i} \\
 &= 1.
 \end{aligned}$$

Now multiplying both sides by the positive quantity  $\prod_{i=1}^n \|x_i\|_{p_i}$  to obtain the statement of the theorem. To achieve equality, each term in the sum must achieve equality in inequality (2.1), i.e., for all  $k \in \{1, 2, 3, \dots, m\}$ ,  $|u_{1_k}| = |u_{2_k}| = \dots = |u_{n_k}|$ , which translates to the statement in the theorem since  $|u_i| = \frac{|x_i|}{\|x_i\|_{p_i}}$  for all  $i$ .

■

**Remark.** The inequality (2.3) is a generalization of the Hölder inequality which is known as follows. For any vectors  $x$  and  $y$  in  $\mathbb{C}^m$ , and for any positive numbers  $p$  and  $q$  satisfying  $\frac{1}{p} + \frac{1}{q} = 1$ , we have

$$\sum_{k=1}^m |x_k + y_k| \leq \|x\|_p \|y\|_q,$$

Where  $\|x\|_p = (\sum_{k=1}^m |x_k|^p)^{\frac{1}{p}}$  dan  $\|y\|_q = (\sum_{k=1}^m |y_k|^q)^{\frac{1}{q}}$ .

### 2.3. Generalized Minkowski's inequality with $n$ terms

In this chapter, we will also introduce a generation of Minkowski's inequalities.

**Theorem 2.3.** For any vectors  $u_i$  in  $\mathbb{C}^m$ , and for any positive number  $p > 1$ , we have

$$\left\| \sum_{i=1}^n u_i \right\|_p \leq \sum_{i=1}^n \|u_i\|_p. \quad (2.4)$$

Equality hold if and only if  $au_i = bu_j$  for every  $i \neq j$  and for some non-negative real constants  $a$  and  $b$ , not both zero.

**Proof:**

$$\begin{aligned} \left( \left\| \sum_{i=1}^n u_i \right\|_p \right)^p &= \sum_{k=1}^m \left| \sum_{i=1}^n u_{i_k} \right|^p \\ &= \sum_{k=1}^m \left( \left| \sum_{i=1}^n u_{i_k} \right| \cdot \left| \sum_{i=1}^n u_{i_k} \right|^{p-1} \right) \\ &\leq \sum_{k=1}^m \left( \left( \sum_{i=1}^n |u_{i_k}| \right) \cdot \left| \sum_{i=1}^n u_{i_k} \right|^{p-1} \right) \\ &= \sum_{i=1}^n \left( \sum_{k=1}^m \left( |u_{i_k}| \left| \sum_{i=1}^n u_{i_k} \right|^{p-1} \right) \right) \\ &\leq \sum_{i=1}^n \left( \sum_{k=1}^m |u_{i_k}|^p \right)^{\frac{1}{p}} \left( \sum_{k=1}^m \left( \left| \sum_{i=1}^n u_{i_k} \right|^{p-1} \right)^{\frac{p}{p-1}} \right)^{\frac{p-1}{p}} \\ &= \left( \sum_{i=1}^n \left\| \sum_{i=1}^n u_i \right\|_p \right) \left( \left\| \sum_{i=1}^n u_i \right\|_p \right)^{p-1}. \end{aligned}$$

The theorem follows by dividing both sides by the positive quantity  $(\|\sum_{i=1}^n u_i\|_p)^{p-1}$ . To achieve equality it is necessary that the triangle inequality (n numbers) for complex numbers holds with equality for each term. ■

**Remark.** The inequality (2.4) is a generalization of the Hölder inequality which is known as follows. For any vectors  $u$  and  $v$  in  $\mathbb{C}^m$ , and for any positive number  $p > 1$ , we have

$$\|u + v\|_p \leq \|u\|_p + \|v\|_p.$$

Equality hold if and only if  $au = bv$  for some non-negative real constants  $a$  and  $b$ , not both zero.

### 3. Refinements of the scalar Young inequality

**Theorem 3.1.** If  $a_i$  are positive numbers for all  $i = 1, 2, 3, \dots, n$  and  $0 \leq \lambda_i \leq 1$  for all  $i = 1, 2, 3, \dots, n$  such that  $\sum_{i=1}^n \lambda_i = 1$ , then

$$\prod_{i=1}^n a_i^{\lambda_i} + \sum_{i=1}^{n-1} r_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \sum_{i=1}^n \lambda_i a_i \quad (3.3)$$

where  $r_i = \min \left\{ \lambda_i, 1 - \lambda_i - 2 \sum_{\substack{j=1 \\ j \neq i}}^{n-1} \lambda_j \right\}$  for  $i \in \{1, 2, 3, \dots, n\}$ .

**Proof:**

If  $\lambda_i = \frac{1}{2}$  for every  $i$  and  $n = 2$ , the inequality becomes an equality. Assume that  $\lambda_i < \frac{1}{2}$  for every  $i \in \{1, 2, 3, \dots, n\}$ . Then by the inequality, we have

$$\begin{aligned} \sum_{i=1}^n \lambda_i a_i - \sum_{i=1}^{n-1} \lambda_i (\sqrt{a_i} - \sqrt{a_n})^2 &= \sum_{i=1}^n \lambda_i a_i - \sum_{i=1}^{n-1} \lambda_i (a_i - 2\sqrt{a_i a_n} + a_n) \\ &= \lambda_n a_n + \sum_{i=1}^{n-1} 2\lambda_i \sqrt{a_i a_n} - \sum_{i=1}^{n-1} \lambda_i a_n \\ &= \sum_{i=1}^{n-1} 2\lambda_i \sqrt{a_i a_n} + \left( \lambda_n a_n - \sum_{i=1}^{n-1} \lambda_i a_n \right) \\ &= \sum_{i=1}^{n-1} 2\lambda_i \sqrt{a_i a_n} + \left( \lambda_n - \sum_{i=1}^{n-1} \lambda_i \right) a_n \\ &= \sum_{i=1}^{n-1} 2\lambda_i \sqrt{a_i a_n} + \left( 1 - 2 \sum_{i=1}^{n-1} \lambda_i \right) a_n \\ &\geq \left( \prod_{i=1}^{n-1} (\sqrt{a_i a_n})^{2\lambda_i} \right) \cdot a_n^{(1-2 \sum_{i=1}^{n-1} \lambda_i)} \\ &= \left( \prod_{i=1}^{n-1} (a_i a_n)^{\lambda_i} \right) \cdot a_n^{(1-2 \sum_{i=1}^{n-1} \lambda_i)} \\ &= \left( \prod_{i=1}^{n-1} (a_i)^{\lambda_i} \right) \cdot a_n^{(1-\sum_{i=1}^{n-1} \lambda_i)} \\ &= \left( \prod_{i=1}^n (a_i)^{\lambda_i} \right), \end{aligned}$$

Where  $\lambda_n = 1 - \sum_{i=1}^{n-1} \lambda_i$ , and so

$$\sum_{i=1}^n \lambda_i a_i - \sum_{i=1}^{n-1} \lambda_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \prod_{i=1}^n a_i^{\lambda_i}$$

If there is  $i_0 \in \{1, 2, \dots, n-1\}$  such that  $\lambda_{i_0} > \frac{1}{2}$ , then  $\lambda_i < \frac{1}{2}$  for every  $i \in \{1, 2, 3, \dots, n\} - \{i_0\}$  and

$$\begin{aligned}
& \sum_{i=1}^n \lambda_i a_i - \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i (\sqrt{a_i} - \sqrt{a_n})^2 - (1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i) (\sqrt{a_{i_0}} - \sqrt{a_n})^2 \\
&= \sum_{\substack{i=1 \\ i \neq i_0}}^n \lambda_i a_i - \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i (\sqrt{a_i} - \sqrt{a_n})^2 + \lambda_{i_0} a_{i_0} - \left(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i\right) (\sqrt{a_{i_0}} - \sqrt{a_n})^2 \\
&= \lambda_n a_n + \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} 2\lambda_i \sqrt{a_i a_n} - \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i a_n + \lambda_{i_0} a_{i_0} - \left(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i\right) (\sqrt{a_{i_0}} - \sqrt{a_n})^2 \\
&= \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} 2\lambda_i \sqrt{a_i a_n} + \left(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i\right) a_n + \lambda_{i_0} a_{i_0} - \left(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i\right) (a_{i_0} - 2\sqrt{a_{i_0} a_n} + a_n) \\
&= \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} 2\lambda_i \sqrt{a_i a_n} + \left(2 \sum_{i=1}^{n-1} \lambda_i - 1\right) a_{i_0} + 2 \left(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i\right) \sqrt{a_{i_0} a_n} \\
&\geq \left(\prod_{\substack{i=1 \\ i \neq i_0}}^{n-1} (\sqrt{a_i a_n})^{2\lambda_i}\right) \cdot a_{i_0}^{(2 \sum_{i=1}^{n-1} \lambda_i - 1)} \cdot \sqrt{a_{i_0} a_n}^{2(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i)} \\
&= \left(\prod_{\substack{i=1 \\ i \neq i_0}}^{n-1} (a_i a_n)^{\lambda_i}\right) \cdot a_{i_0}^{(2 \sum_{i=1}^{n-1} \lambda_i - 1)} \cdot (a_{i_0} a_n)^{(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i)} \\
&= \left(\prod_{\substack{i=1 \\ i \neq i_0}}^{n-1} (a_i)^{\lambda_i} (a_n)^{\lambda_i}\right) \cdot (a_{i_0})^{(2 \sum_{i=1}^{n-1} \lambda_i - 1)} \cdot (a_{i_0})^{(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i)} a_n^{(1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i)} \\
&= \left(\prod_{\substack{i=1 \\ i \neq i_0}}^{n-1} (a_i)^{\lambda_i}\right) \cdot (a_{i_0})^{\lambda_{i_0}} \cdot a_n^{(1 - \sum_{i=1}^{n-1} \lambda_i)} \\
&= \left(\prod_{i=1}^n (a_i)^{\lambda_i}\right),
\end{aligned}$$

Where  $\lambda_n = 1 - \sum_{i=1}^{n-1} \lambda_i$ , and so

$$\sum_{i=1}^n \lambda_i a_i - \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i (\sqrt{a_i} - \sqrt{a_n})^2 - (1 - \lambda_{i_0} - 2 \sum_{\substack{i=1 \\ i \neq i_0}}^{n-1} \lambda_i) (\sqrt{a_{i_0}} - \sqrt{a_n})^2 \leq \prod_{i=1}^n a_i^{\lambda_i}$$

Hence,



$$\prod_{i=1}^n a_i^{\lambda_i} + \sum_{i=1}^{n-1} r_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \sum_{i=1}^n \lambda_i a_i$$

7  
This completes the proof. ■

As a direct consequence of Theorem 3.1, we have

$$\sum_{\substack{i,j \in \{1,2,3,\dots,n\} \\ i \neq k \rightarrow i_j \neq k_j}} \left( \prod_{i=1}^n a_i^{\lambda_{ij}} \right) + n \sum_{i=1}^{n-1} r_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \sum_{i=1}^n a_i$$

and so

$$\frac{1}{n} \sum_{i,j \in \{1,2,3,\dots,n\}} \left( \prod_{i=1}^n a_i^{\lambda_{ij}} \right) + \sum_{i=1}^{n-1} r_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \sum_{i=1}^n a_i.$$

Corollary 3.2. If  $a_i$  are positive numbers for all  $i = 1, 2, 3, \dots, n$  and  $0 \leq \lambda_i \leq 1$  for all  $i = 1, 2, 3, \dots, n$  such that  $\sum_{i=1}^n \lambda_i = 1$ , then

$$\frac{1}{n} \sum_{i,j \in \{1,2,3,\dots,n\}} \left( \prod_{i=1}^n a_i^{\lambda_{ij}} \right) + \sum_{i=1}^{n-1} r_i (\sqrt{a_i} - \sqrt{a_n})^2 \leq \sum_{i=1}^n a_i \quad (3.2)$$

Corollary 3.3. If  $a_i$  are positive numbers for all  $i = 1, 2, 3, \dots, n$  and  $0 \leq \lambda_i \leq 1$  for all  $i = 1, 2, 3, \dots, n$  such that  $\sum_{i=1}^n \lambda_i = 1$ , then

$$\left( \prod_{i=1}^n a_i^{\lambda_i} \right)^2 + \sum_{i=1}^{n-1} r_i (a_i - a_n)^2 \leq \sum_{i=1}^n \lambda_i a_i^2 < \left( \sum_{i=1}^n \lambda_i a_i \right)^2 \quad (3.3)$$

where  $r_i = \min \left\{ \lambda_i, 1 - \lambda_i - 2 \sum_{\substack{j=1 \\ j \neq i}}^{n-1} \lambda_j \right\}$  for  $i \in \{1, 2, 3, \dots, n\}$ .

Proof:

If we putting  $a_i$  by  $a_i^2$ , the inequality can be written in the form

$$\left( \prod_{i=1}^n a_i^{\lambda_i} \right)^2 + \sum_{i=1}^{n-1} r_i (a_i - a_n)^2 \leq \sum_{i=1}^n \lambda_i a_i^2 < \left( \sum_{i=1}^n \lambda_i a_i \right)^2$$

■

**Remark.** When comparing the inequality (3.1) with the inequality (1.3) and also the inequality (3.3) with the inequality (1.4), it is easy to observe that the inequality (3.1) is a refinement of the inequality (1.3), and the inequality (3.3) is a refinement of the inequality (1.4) by generalizing the number of terms to  $n$  numbers.

### References

- [1] W. H. Young, On classes of summable functions and their Fourier series, *Proceedings of the Royal Society A*. 87 (1912), 225–229.
- [2] F. Kittaneh and Y. Manasrah, Improved Young and Heinz inequalities for matrices, *J. Math. Anal. Appl.* 361 (2010), no. 1, 262-269.
- [3] O. Hirzallah and F. Kittaneh, Matrix Young inequalities for the Hilbert-Schmidt norm, *Linear Algebra Appl.* 308 (2000), no. 1-3, 77-84.
- [4] J. Wu and J. Zhao, Operator inequalities and reverse inequalities related to the Kittaneh Manasrah inequalities, *Linear Multilinear Algebra* 62 (2014), no. 7, 884-894
- [5] W. Liao, J. Wu and J. Zhao, New versions of reverse Young and Heinz mean inequalities with the Kantorovich constant, *Taiwanese J. Math.* 19 (2015), no. 2, 467-479.
- [6] W. Liao and J. Wu, Improved Young and Heinz inequalities with the Kantorovich constant, *J. Math. Inequal.* 10 (2016), no. 2, 559-570.
- [7] M. Bakherad, M. Krnic and M. S. Moslehian, Reverse Young-type inequalities for matrices and operators, *Rocky Mountain J. Math.* 46 (2016), no. 4, 1089-1105
- [8] A. Salemi and A. Sheikh Hosseini, On reversing of the modified Young inequality, *Ann. Funct. Anal.* 5 (2014), no. 1, 70-76
- [9] H.L. Zuo, G.H. Shi and M. Fujii, Refined Young inequality with Kantorovich constant, *J. Math. Inequal.* 5 (2011), no. 4, 551-556.

## ORIGINALITY REPORT

23%

SIMILARITY INDEX

18%

INTERNET SOURCES

27%

PUBLICATIONS

6%

STUDENT PAPERS

## PRIMARY SOURCES

1	archive.org Internet Source	4%
2	coek.info Internet Source	3%
3	www.emis.de Internet Source	2%
4	bims.iranjournals.ir Internet Source	2%
5	"Differential and Integral Inequalities", Springer Science and Business Media LLC, 2019 Publication	2%
6	Mohammad Bagher Ghaemi, Nahid Gharakhanlu, Themistocles M. Rassias, Reza Saadati. "Advances in Matrix Inequalities", Springer Science and Business Media LLC, 2021 Publication	1%
7	Kittaneh, F.. "Improved Young and Heinz inequalities for matrices", Journal of	1%

# Mathematical Analysis and Applications, 20100101

Publication

---

8	Nunez, M.. "Algebraic theory of probabilistic processes", Journal of Logic and Algebraic Programming, 200305/08 Publication	1 %
9	Shigeru Furuichi, Hamid Reza Moradi. "Advances in Mathematical Inequalities", Walter de Gruyter GmbH, 2020 Publication	1 %
10	Dennis S. Bernstein. "Scalar, Vector, and Matrix Mathematics", Walter de Gruyter GmbH, 2018 Publication	1 %
11	Alpay Kirlangic. "The scattering number of thorn graphs", International Journal of Computer Mathematics, 03/01/2004 Publication	1 %
12	<a href="http://lambda.gsfc.nasa.gov">lambda.gsfc.nasa.gov</a> Internet Source	1 %
13	<a href="http://export.arxiv.org">export.arxiv.org</a> Internet Source	1 %
14	<a href="http://weatherhead.case.edu">weatherhead.case.edu</a> Internet Source	1 %
15	Abolfazl Lavaei, Sadegh Esmail Zadeh Soudjani, Rupak Majumdar, Majid Zamani.	1 %

"Compositional abstractions of interconnected discrete-time stochastic control systems", 2017 IEEE 56th Annual Conference on Decision and Control (CDC), 2017

Publication

---

16

M. Sarfraz, A. Rasheed, Z. Muzaffar. "A Novel Linear Time Corner Detection Algorithm", International Conference on Computer Graphics, Imaging and Visualization (CGIV'05), 2005

Publication

---

1 %

---

Exclude quotes      Off

Exclude matches      < 14 words

Exclude bibliography      On